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Vhi %Vhi %Vhi %Vhi %Vhi % [k.M ^v* esa nl vfry?kwŸkjh iz'u gSa] ftUgsa gy djuk vfuok;Z gSA
[k.M ^c* esa y?kwŸkjh ç'u ,oa [k.M ^l* esa nh?kZ mŸkjh ç'u gSaA [k.M
^v* dks lcls igys gy djsaA

Note : Section 'A', containing 10 very short-answer-type questions, is compulsory.

Section 'B' consists of short answer type questions and Section 'C' consists of

long answer type  questions. Section 'A' has to be solved first.

Section - 'A'

fuEukafdr vfry?kqŸkjh ç'uksa ds mŸkj ,d ;k nks okD;ksa esa nsaA (Answer

the following very short-answer-type questions in one or two

senternces.)       (1x10=10)

ç'u 1- fdlh ,d ikS/ks dk uke fyf[k;s ftlesa xzafFky ewy ik;s tkrs gSaA
Name any one plant having nodulated root.

ç'u 2- egkcjxn o`{k------------------'kgj esa ik;k tkrk gSA
Big banyan tree is found in...........city.

ç'u 3- ekWMwyj o`f) ikS/ks ds fdl Hkkx esa ik;h tkrh gS\
Modular growth is found in which part of the plant?

ç'u 4- dqdqjfcVk ds rus esa dkSu lk V.B. ik;k tkrk gS\
Name the type of  V.B. found in Cucurbita stem?

ç'u 5- i.kkZHk o`Ur ---------------------------dk :ikUrj.k gSA
Phyllode is modification of................
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ç'u 6- osykesu mrd-----------------------ikS/ks ds tM+ Hkkx esa ik;k tkrk gSA
Velamen tissue is present in root part of................plant.

ç'u 7- vjh; V.B................... esa ik;s tkrs gSaA
Radial V.B. are found in....................

ç'u 8- dnEc ds isM+ esa ijkx.k----------------------ds }kjk gksrk gSA
Pollination in KADAMB plant occurs through..................

ç'u 9- dwVQy dk ,d mnkgj.k nhft;sA
Give an example of false fruit.

ç'u 10- fu"kspu ds fcuk Qyksa dk fodkl ----------------------- dgykrk gSA
Development of fruit without fertilization is known as.................

Section - 'B'

fuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsaA(Answer the

following short-answer-type questions with word limit 150-200(3x5=15)

ç'u 1- fdlh ,d ij fVIi.kh fyf[k;s@Write note on any one :

(a) dhVHk{kh ikS/ks ¼Insectivorus plants½     (b) Vhykse ¼Telome theory½
ç'u 2- fdlh ,d ij fVIi.kh fyf[k;s@Write note on any one :

(a) rus ds laoguh caMy (Vascular bundle of stem½
(b) ,d cht i=h rus dh vuqizLFk dkV ¼T.S. of Monocot stem½

ç'u 3- fdlh ,d ij fVIi.kh fyf[k;s@Write note on any one :

(a) i.kZ dy'k ¼Leaf pitcher½     (b) iŸkh ds dk;Z ¼functions of leaf½
ç'u 4- fdlh ,d ij fVIi.kh fyf[k;s@Write note on any one :

(a) Loijkx.k ¼Self pollination½     (b) tjk;qfoU;kl ¼Placentation½
ç'u 5- fdlh ,d ij fVIi.kh fyf[k;s@Write note on any one :

(a) cht lq"kqIrkoLFkk ¼Seed dormancy ½
(b) Qy dk fuekZ.k ¼Fruit development½

Section - 'C'

fuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsaA
(Answer the following long-answer-type questions with

word limit 300-350)          (5x5=25)

ç'u 1- cgqo"khZ; ikS/kksa esa fofo/krk dks le>kb;sA
Explain diversity in perennial plants.

OR

iq"ih; ikS/kksa dh vk/kkjh; nSfgd :ijs[kk dk o.kZu dhft;sA
Describe basic bodyplan of flowering plants.

ç'u 2- f}chti=h rus esa f}rh;d o`f) dk o.kZu dhft;sA
Explain secondary growth in dicot stem.

OR

dk"B ,oa mldh lajpuk dk o.kZu dhft,A
Describe wood and its structure.

ç'u 3- fuEufyf[kr esa ls fdlh ,d dk o.kZu dhft, %
Describe any one of the following:

1- i.kZ foxyu
  Leaf senescence

2- ewlyk tM+ dk lgthoh :ikUrj.k
   Taproot modified for symbiotic relation

ç'u 4- ÞQwy-izjksg dk :ikUrj.k gSAß le>kb;sA
"Flower is a modified shoot." Explain.

OR

tUrq ijkx.k dks le>kb;sA¼Explain Zoophily½
ç'u 5- cht çdh.kZu ds izdkj mnkgj.k lfgr crkbZ;sA

Explain seed dispersal giving examples.

OR

ljl Qyksa dh tkudkjh nhft;sA
Describe succulent fruits.
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